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13	 There are only £10 notes and £20 notes in a wallet.

	 Ali takes at random a note from the wallet.

	 (a)	 Write down the probability that Ali takes a note with a value of more than £5

... . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

	 There are only 1p coins and 2p coins in a bag.
	 The total value of the coins in the bag is 40p

	 The total value of the 1p coins is the same as the total value of the 2p coins.

	 Simon takes at random a coin from the bag.

	 (b)	 Find the probability that Simon takes a 1p coin.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 13 is 3 marks)




